E000699 / J

Material

Plan Article Quantity
X000862 1006463 4
X001016 1001682
X004888 1906839 (40)

X004857 1906740 (45)
X004889 1906841 (50)
Y017223 1752154 (40)
Y017350 1750054 (45)
Y017233 1752254 (50)
M8 DIN125 1001556
M8x50 ISO7380 1902483

022
M10x35 ISO7380
3 ACT.
SE39+SE42+BZE
M4X12 DIN7984
M4 DIN985

M10 DIN985
X005912

M5x10

1906843 (40)

1906844 (45)

1906845 (50)
1990648
2993352
1009442
1912307
1912304
1907582
1001678
1001683
1916175
T001002
1911896

RGO Y O N GG GO NG OO N T | S G GGG GO N

Plan No.
BACK FRAME L44 NAVIX ELECTRIC
E000699/ J
Scale: 1:4 Drafted Verified Confirmed \\\\V/’/’
Date 21/04/2011 | 03/08/2021 | 03/08/2021
Initials DD T PJ 000




